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Ha: CHFQMAIN(YVTTUT/ABHY)
el Dleime) = (B9 ®R)
A .24 - B BAGEA) - NPAY - BES 0] &k o4 p/E-T Hl D2
ERESET! 2,901,104 2,907,990 6,886
2 119,000 119,000 0
= 2,782,104 2,788,990 6,886
EREPEL! 2,901,104 2,907,990 26,886
2 119,000 119,000 0
= 2,782,104 2,788,990 6,886
CHFQUAI| (LB /LBYE) 2,121,510 2,136,510 A15,000
2 60,000 60,000 0
= 2,061,510 2,076,510 A15,000
ERESE 1,009,510 1,024,510 A15,000
ETESEEE- 1,009,510 1,024,510 A15,000
307 £12+0| & 110,000 125,000 ~15,000
04 QIZHEARALR & T 110,000 125,000 ~15,000
OWPZSIMSEEONE 2 110,000,0002 110,000 125,000 ~15,000
N RBIE 242,000 242,000 0
2 60,000 60,000 0
= 182,000 182,000 0
EEPSEE AL 120,000 120,000 0
2 60,000 60,000 0
= 60,000 60,000 0
207 RN 0 62,000 £62,000
2 0 31,000 A31,000
= 0 31,000 A31,000
01 eRE ] 0 62,000 62,000
OZLSCNAHNLHATB A (RSEY) (D
SEED 0 62,000 £62,000
2 0 31,000 A31,000
= 0 31,000 A31,000
308 XHXI €A S 01 & 62,000 0 62,000
2 31,000 0 31,000
= 31,000 0 31,000
1 ZIIBSHHE S XA ] 62,000 0 62,000
OZLSCNAHNLHATB A (RSEY) (D
sSHE) 62,000 0 62,000
2 31,000 0 31,000
= 31,000 0 31,000
B2 YA (012 & 2I= ) (IEH/IIE) 256,480 271,480 A15,000
2 59,000 59,000 0
= 197,480 212,480 A15,000
R 138,480 153,480 A15,000
o= 2l 138,480 153,480 A15,000
202 01t 26,400 41,400 ~15,000
01 2Lholbl 26,400 41,400 A15,000
ColH® D& =RoiHl 2 F 26,400,0002 26,400 41,400 ~15,000
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